

QUIZ 8 FOR CALC 4 ON OCT. 30, 2014

Name: \_\_\_\_\_ RUID: \_\_\_\_\_  
Email: \_\_\_\_\_

1. Find the general solution to

$$y'' + 4y' + 4y = t^{-2}e^{-2t}, t > 0$$

2. Find the general solution to

$$y^{(4)} - 2y'' + y = e^t$$

Hint: When trying to find the coefficients, use the following formulas to get  $Y''$  and  $Y^{(4)}$ :

$$(fg)'' = f''g + 2f'g' + fg''$$

$$(fg)^{(4)} = f^{(4)}g + 4f^{(3)}g' + 6f''g'' + 4f'g^{(3)} + fg^{(4)}$$

You don't need to compute either  $Y'$  or  $Y'''$ , as you don't need them here.